
1)  Expand   [image: image3.png](x+5)2x-3)(x+4)






2) Factorise  [image: image4.png]x2 + 4xy + 4y?




3) Simplify 
[image: image5.wmf]5
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4) Simplify 
[image: image6.wmf](
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5) Solve 
0.3x + 0.5y = 1.5




0.4x – 0.2y = 0.7

If one equation is written y = or x = the substitution method is best

y = 4x + 5



y = -2x +6


2y + 3x – 18 = 0

y + 7x – 27 = 0

y = 4x – 12


y = 3x


Equations



Steps:

y = 4x + 5




1)  Substitute the first equation in place of y in 2nd 

y + 7x – 27 = 0


2)  Select one variable to eliminate 

4x + 5 + 7x – 27 = 0


Simplify and solve (brackets may be needed)

            11x – 22 = 0

                   11x = 22

                       x = 2


One solution

y = 4x + 5




3)  Substitute this variable back into one equation

y = 4 x 2 + 5



      to get the other variable

y = 8 + 5

y = 13






Other solution

     y + 7x – 27 = 0


4)  Substitute both solutions into the other original

13 + 7x2 – 27 = 0?


      equation to check answer is correct

  13 + 14 – 27 = 0

             27-27 = 0  Yes!
 Solution: x = 2 and y = 13 or coordinate (2, 13)

The entrance fees to the zoo are $12 for adults, and $8 for children

One day 16 people go to the zoo, paying a total of $164


How many adults and children went to the zoo?


· Define variables 
x = adults
y = children

· Form equations

Total people x + y = 16

Total cost for adults = 12x  and 8y for children



Total combined cost = 12x + 8y = $164

Equations
       x + y = 16




12x + 8y = 164


· Solve
  8x + 8y = 128




12x + 8y = 164




          -4x = -36

One solution
      x = 9

Substitute

x + y = 16





9 + y = 16    so y = 7































































HW Theta pg 19 & 20 Done?
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Ex 5.05
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Solution 


        9 adults


        7 children





Check 


     12x + 8y = 164


     12x9 + 8x7 = 164?


     108 + 56 = 164 Yes! 


 So solution is correct












































Applications
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Ex 5.04





Substitution method











HW Theta pg 29 & 22
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